
MECA
1 3 2 1 : SEANCE 7

✓ (x,y) = - V o

p (x, y ) = p o



khz-

💔

{T'



Vx,y) = - t o

p lug ) = p o

Ff1 T ROU V E R
= o = o L ES EQUATIONS
- -

X
piece. -prou'Ç) = n u

" (y)

X : X "¥ÏËÏ

😉☹ 😐

:

- Vo LoL
-



Eff R E S O U D R E
L E S E Q U AT I O N S !

- prou'Ç) = n u
" (g)ëïË÷÷

😐😐

÷:÷÷:
4 ) = Vall-ent☹D) | | a . A- + B

/ Un = B

= 0



;



Ma

ucp.u.CI-ent

😐

D) f) Ç¥.
BIA S E !?-Yg dy = { "ent☹g) dis

= [-¥. earl☹D]? = ¥.

S E I

f V o E a 2M¥

Ém i a s [¥] "
[ ± ]

à¥¥ËT
☹☹☹4¥,



E t dy ) = Un ( 1 - u n t☹y))

t w = n ¥1
y ⇒

= * U n lt¥ [exist☹y] = p r o V a
y = 0

÷

F I G- = É = ¥☹¥Û = ¥ .

☹

😐



⇒

l.
r

plu

😐

+

¥ ] --n'Ë

😐

ÊË É

- - - - ☹

n u e
NI s " saÆ

😐

ËIË.

l '¥ = Î n
w



⇒¥'¥=
😐

É¥

ËÏË
. &.

😐

fut = 5cL) = 1¥
f U ns*F

😐

ÏË÷

. ¥Ë[ËÏ÷

☺



1871 U N E
DEMONSTRATION W = ¥-%y
S IM P L E P O U R

BERNOULLI ECOULEMENT

E N 2 D : - ) i r r o t a t i o n n a
W

☺

→ §¥=¥y

r ¥
-

o k [pu

😐

+

pr# = -0¥]

{ dyfpufq.tl-Ey = - ¥ -ey] dy

E
d y

dx[eu

😐

]

+
dyfeufy-Jtdxferffft.ly [proof]

+
dxfftdyfhytegdyqu.at/eE)td(lE)-
+dCp)tdClgy)=o



ok [eu¥ ] + dy [eu¥] + dxferffft.ly [pr¥ ]

+ ok 0¥ + dy0¥ t ey dy qu .
d (ef) + d( E )

+ d (p ) + d legg) = o

¥+lÊ+t+l"-

😉

ËÉ?.....ci?
I#..ik-




